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General Mathematics

31. If2x?+3x+ 1 is divided by (3x + 2), then remainder is :

1 1 2 2
@ 5 (b) =9 (©) 9 (d —9

32. When x3 — 3x% + x + 2 is divided by polynomial g(x), then quotient and remainder are x — 2
and —2x + 4, respectively. g(x) is :
(@) ¥2—x+1 (b) ¥*+x+1 (c) x¥2+x—1 (d) ¥2—x—1

33. Zeroes of the polynomial x> —3x2+x+ larea—b,a, a+b,thena+bis:

(a) —1+4/2 (b) —1-4/2 () 1£42 (d) None of these

34. If 2x + 6y =7, then how many integer solutions are possible ?
(a) 1 (b) 2 (c) Infinite solution (d) No solution

35. For what value of t, the following pair of equations has unique solution ?

4x+ty+6=0
2x+2y+2=0
(a) 1 (b) 2 (c) Both (a) & (b) (d) 4

36. For what value of m, the solution of 2x + 3y = 11 and 2x — 4y = —24 satisfies the equation
y=mx+3?

(a) -2 (b) 2 () -1 @) 1

37. For what value of k, the following pair of linear equations have infinitely many solutions :
kx+3y—-(k-3)=0
12x+ky—-k =0
(@) 0 (b) 3 (c) 4 (d) 6

38. For what value of k, quadratic polynomial x? — 2x + k has real zeroes ?
(a) k>1 (b) k<1 (c) for all real values (d) None of these

39. Roots of the equation x? — 5x + 8 =0 are :

1 1
(a) real and distinct(b) real and equal ~ (c) 5 (5 i[7) (d) 5B £i5)

40. Which term of the A.P. 121, 117, 113, ... is its first negative term ?
(a) 31% (b) 32m (c) 334 (d) 34%
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T iU
Ffg 2x2 + 3x + 1 I (3x + 2) T 9T fean S, A1 9%t B
1 1 2 2
@ 5 (b) =9 (©) 9 (d —9

x> —3x2 + x + 2 1 §EUE g(x) ¥ W ¢ T AWTHA 37 ITHA hHIM: x — 2 3 2x + 4 8 |
g @

(@) x2—x+1 (b) ¥ +x+1 (c) x*+x-1 (d) x*2—x-1

FEUE S —3x2+x+ 1 HYAHa—b,a,a+bd,Ma+bs

(@) —1+12 (b) ~1-12 (©) 1+42 (d) &7 & HrE
Ifg 2x + 6y = 7, A1 57 T uIieh B THYE & 7
(a) 1 (b) 2 (c) 3= g (d) 18 & &I
t % Tore O o ToTe fr=ferfaa weftentor Im 1 SAfgd gat 8 2
4x+ty+6=0
2x+2y+2=0 .
(a) 1 (b) 2 (c) GHi(a) 3R (b)  (d) 4

m o R8T % 1T, 2x + 3y = 11 3R 2x — 4y = —24 T &1 THHWT y = mux + 3 1 TS HLdl
292
(a) -2 (b) 2 (c) -1 (d) 1

k % forg o o fore fferfaa Waes weftertor 3m o 31 gt &1 2
ke +3y—(k-3)=0

12x +ky—k =0

(@ 0 (b) 3 (c) 4 (d 6
k b fore T <k ToTe fgema s1gug x2 — 2x + k % aT&Tdeh ST & ?

(a) k>1 (b) k<1

(c) Tft areferes T & fotw (d) 379 T His T

TR x2 — 5x+ 8 =0 0 &

(a) aTEfersh 3 fir=y (b) STt 3R THH

© 35+ @ 5G+i5)

TR Joft 121, 117, 113, ... ST TT IUH FUTHS IS & 2
(a) 314t (b) 324t (c) 33at (d) 344t
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The sum of the odd numbers between 0 and 50 is :
(a) 625 (b) 1250 (¢) 750 (d) 725

For what value of n, n terms of the two Arithmetic Progressions (A.P.’s) 63, 65, 67, ... and
3,10, 17, ... will be equal ?

(a) 13 (b) 11 () 10 @) 12

How many two-digit numbers are divisible by 3 ?
(a) 30 (b) 29 (c) 27 (d) 26

What is the area of following figure, if AE L DB and CF L DB, AE =8 cm, BD = 15 cm
and FC=12cm ?

(a) 140 cm? (b) 150 cm? (c) 160 cm? (d) 170 cm?

The point P on the x-axis is equidistant from the points (2, —5) and (-2, 9). The coordinates
of Pis:

(@) (5,0 (b) (5,0) (c) (7,0) (d) (7,0

The points A = (2, 3), B = (4, k) and C = (6, -3) are collinear. The value of k is :
(a) 0 (b) -1 (c) 1 (d) 2

Which of the following statements are true ?
(A) All the congruent figures are similar.
(B) All the similar figures are congruent.

(a) Only (A) (b) Only (B) (c) Both (A)and (B) (d) Neither (A) nor (B)
BZ

If AABC is an isosceles triangle whose angle C is right angle then value of AC2 is :

(a) 4 (b) 3 (c) 2 (d) None of these

If area of a right-angled triangle is 24 cm? and its sides are in ratios 3 : 4 : 5, then the
hypotenuse is :

(a) S5cm (b) 10 cm (¢) 13cm (d) None of these

Series-A 6 DTM-1
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0 31 50 % ofi= shi forwm gt <1 =@ 2
(a) 625 (b) 1250 (c) 750 (d) 725

n o forl 7T 6 foTu, &1 w9T=r SfomI 63, 65, 67, ... 33, 10, 17, ... % nd 9e S &M 2
(a) 13 (b) 11 (c) 10 (d) 12

3 9 fawfsra g9 areft 1 37ehi i fopaht T=amd 8 2
(a) 30 (b) 29 (c) 27 d) 26

ffetaa 3Tmepf w1 &rhet 991 &, I AE L DB 3iR CF 1L DB, AE =8 &.., BD = 15 9.5
IFRFC =128 2

(a) 140972 (b) 150 @.7t.2 (c) 1607.1.2 (d) 1703.7.2
x-3181 T TS formg P, farmgaii (2, —5) 3R (-2, 9) A sk g T 2 | P fcwriss &

(@) (=5,0) (b) (5,0 () (7,0) (d) (-7,0)
fgA=(2,3),B=(4,k 3N C=(6,3)TENE I kHITAR

(@) 0 (b) -1 (©) 1 (d) -2
feafafaa d s o sem T 8 2

(A) Tt gafrem Tmepfaat THET B § |

(B) ot oEy STt Tafmay gt & |

(a) e (A) (b) e (B) (c) €HI (A)AR(B) (d) A7 (A)TE (B)
aft AABC e wfya B e 1 C @ & A e &

(a) 4 (b) 3 (¢) 2 (d) 3T € IS TR

Ife; foreht wmehior st 1 Sthet 24 ot AT, R qei STehT Y131 ST AU 3 : 4 : 5 81 Y 3T
HUR :

(b) 1091 (c) 1331 (d) 39 | HIE =
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51.

52.

53.
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56.

57.

58.

In an equilateral triangle ABC, AD : BC is :
A

90°

B
(b) 2:1/3 (©) 1:1f3 d \3:1

H

C
(@) \3:2

Sum of the areas of two squares is 468 m? and the difference of their perimeters is 24 m,
then the sum of all sides of the two squares is :
(a) 120 m (b) 100 m (c) 80m (d) 140 m

Area of the sector of a circle with radius 6 cm and angle of the sector being 60°, is :
(@) 10~ (b) 8= (c) 61 (d) 4n

Which of the following is true ?
(A) Tangent at any point of a circle is perpendicular to the radius through the point of

contact.
(B) The lengths of tangents drawn from an external point to a circle are equal.
(a) Only (A) (b) Only (B) (c) Both (A)and (B) (d) Neither (A) nor (B)

If AB is a diameter of a circle whose centre is (2, —3) and co-ordinates of B is (1, 4), then
co-ordinates of A is :
(a) (=3,10) (b) (-3,-10) (c) (3,-10) (d) (3,10)

Two cubes, each of volume 125 cm? are joined end to end. The surface area of the resulting
cuboid is :
(a) 250 cm? (b) 225 cm? (c) 200 cm? (d) None of these

The slant height of a frustum of radii r, r, and height h is :
(@) \[h?+(r;—1,)? (b) \/h2+(r; +1,)> (c) A\/h*—(r;—1)? (d) \[h?—(r; +1,)?

Three solid metallic spheres of radii 6 cm, 8§ cm and 10 cm respectively, are melted to form
a single big solid sphere. The radius of this sphere is :

(a) 16 cm (b) 32cm (c) 22cm (d) 12cm

A cone of height 12 cm and radius of base 6 cm is made up of modelling clay. If it is reshaped
into a hemisphere, then radius of hemisphere is :

(a) 3 (%/Z) cm (b) 6 \/§ cm (¢) 6cm (d) None of these

Series-A 8 | DTM-1
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fopeft wreTg st ABCH, AD : BC®

A
90°
C o3 B
(@) 3:2 (b) 2:4/3 (©) 1:4/3 (d) \3:1

Gl oh &AWl b1 AT 468 HY.2 3 37T 37 TR o1 3= 24 1Y, 2, T gl at bt wef) ofamrad
HIAT R
(a) 1204 (b) 100 . (c) 80Tt (d) 140,

39 I o FISIEue &1 &thel [1d i, [esh! B 6 9.4, qen [esh Hrer@us 60° 1 i
AR |

(a 107w (b) 81 (c) 67 (d) 41
feafafgad s aaa g ?

(A) T % fereft farg T wret e et foreg & o1 &t Foreen e et B 2

(B) aTa forg @ o7 T Wii= 718 Tawi-Xw@ati <hl Ararsat se B ¢ |

(a) e (A) (b) e (B) (c) SHI(A) 3 (B) (d) TdI(A)TE (B)

Ife AB T I o1 SATE & fSeht e (2, —3) 8 TUT B 3 4¢3 (1, 4) &, @1 A 1 FEuTe 2
(a) (-3,10) (b) (-3,-10) (c) (3,-10) (d) (3,10)

QAT TorEm Tedesh T AAA 125 99 W11, B, ohl TWEHR He™ Hefeh! & ST ST & | 3HE I
T T JET &t

(a) 250 =AM, (b) 225 &, (c) 200 9.4 (d) T 9 HIS T

r,, T, PSEI3TT 3T h 4TS o fomieh i forles =8 @

(a) h? + (rl - r2)2 (b) h? + (rl + r2)2

(c) \/h?—(r; —1,)? (d) \/h?—(r; +1)?

S 6 9.1, 8 T, 37 10 ¥.H. Frsenai aret g1 o = 319 et S fraerent T ST 3™

AT ST ST & | 39 et bl e 2
(a) 16T, (b) 3281, (c) 2291, (d) 1281,

Aied s arefl et & 12 3.1, s 3K 6 9.1, e 6 B 9Tt U g SR R |
e 38 TGS o R | sgel feam 7T, TGt 1 e 8

(a) 3(%/2)@‘14% (b) 6~/3 @ .. () 68, (d) 78 T RIS T
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59. Ina AOPQ, right angled at P, OP =7 cm and OQ — PQ =1 c¢m, sin Q is equal to :

7 24 7 7
(@) 53 (b) 55 (©) 54 d g

B+C
60. If A, B, C are interior angles of a triangle and sin ( > ) =cos (x), then x is :
A 3A
(@) A ® (5) © (A) @ (3

61. Ifsin 3A =cos (A —26°), where 3A is an acute angle, then A is equal to :
(a) 26° (b) 27° (c) 28° (d) 29°

sin®—2sin’
2c0830 —cos®
(a) cotO (b) tan 0 (c) sec© (d) cosec 6

62.

n
63. Ifxbe AM.ofx,x,, ..., x,, then value of Zl(xi —X) is:
i=
(a) 2x (b) m-1)x (c) 1 (d 0

64. What is the median of first five prime numbers ?
(a) 3 (b) 5 (c) 7 (d) 6

65. A die is thrown twice. What is the probability that ‘5’ will come up at least once ?
1 11 1 25
(@) 3 (b) 3¢ ©) % d) 3¢
66. The value of natural number n, for which 4" ends with the digit zero :

(a) 11 (b) 12 (c) 18 (d) None of these

67. Which of the following is not an irrational number ?
(a) \/1—5 (b) = (c) 0.10110111011110... (d) 0.10101010...

68. The fractional value of 0.712 s :

47 47 47 47
@) %6 (b) 59 (©) 3¢ d o1

69. (1101),+(11101), is equal to :
(a) (1101001),  (b) (101010), (©) (110101), (d) (1010101),

70. The number 25 in binary system is written as :
(a) (10110), (b) (11100), (c) (11001), (d) (10011),

SeriessA T | DTM-1
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fortt AOPQH, PEHITR, OP =7 8.1, 0Q - PQ = 1 B.H). sin Q HT A B

7 24 7 7
(@) 53 (b) 55 (©) 54 d g

af A, B, C fael Bt 5 a3 # 3 sin (25 = cos (0, W12

A 3A

(@ A (b) (3) © A (d) (7)
TG sin 3A = cos (A — 26°), &l 3A Teh IR 7, A A HTHHE &
(a) 26° (b) 27° (c) 28° (d) 29°
sin®—2sin3 0
2 cos3 0 —cos 0
(a) cotH (b) tan 0 (c) secO (d) cosec©
I x,, x,, ...,xnwwmwx%,aﬁ__gl(xi—f) HIAA R
(a) 2% b) n-1)x ©) 1 d 0
YU Ui 3THTS @131 <h HIfETehT =1 8 2
(a) 3 (b) 5 ) 7 d 6
Teh I bl €1 ST theh] STTdT @ | hH O ohH Teh I “5° HU AT <hl TTRehdl =1 & 2

1 11 1 25
(@) 3 (b) 36 ©) % d 36

JTehfcieh T n o fohd A o 7T 41 (1 TS 37 I 7) I 37 T AT 21 8 7

(a) 11 (b) 12 (c) 18 (d) 3T A ®IE &
fraforfiaa @ @ %= & sufee gen € R
(a) /15 b)
(c) 0.10110111011110... (d) 0.10101010...
0.712 =1 f=TTcesh A9 @
47 47 47 47
(@) %6 (b) %9 ©) 36 d &1
(1101), + (11101), ST &
(a) (1101001),  (b) (101010), (c) (110101), (d) (1010101),

. Te—smumh vgfa & g 25 @ for@n smam

(a) (10110), (b) (11100), (c) (11001), (d) (10011),
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84.

General Studies

During whose Tenure ‘Postal-Stamp’ service started in India ?
(a) Sir John Shore (b) Lord Wellesley (c¢) Lord Ripon (d) Lord Dalhousie

Who among the following Muslim leaders was associated with the Home Rule League of
Annie Besant ?

(a) Muhammad Igbal (b) Abul Kalam Azad

(c) Muhammad Ali Jinnah (d) Sir Syyed Ahmad Khan

Who among the following was not associated with the Indian National Army ?
(a) B.C.Dutt (b) Rashid Ali (c) P.K. Sehgal (d) Shahnawaj
Who was the first elected Chief Minister of Uttarakhand ?

(a) Nityanand Swami (b) Narayan Datt Tiwari

(c) Harish Rawat (d) Bhagat Singh Koshyari

Where was the National Games 2022 held ?

(a) Goa (b) Gujarat (c) Madhya Pradesh (d) Haryana
UNFCC (COP-27) conference was organized in November 2022 in .

(a) Paris, France (b) Glasgow, Scotland

(c) Sharam-Al-Sheikh, Egypt (d) New Delhi, India

Which option among the following is correct about the members of QUAD ?

(a) India, Japan, Germany, America (b) India, Israel, Japan, Germany
(c) India, Japan, France, Australia (d) India, Australia, America, Japan
President Draupadi Murmu belongs to which schedule tribe of India ?

(a) Santhal (b) Garo (¢) Khasi (d) Buksa
The Seventh Schedule of the Indian Constitution is related with —

(a) President and Governor of States (b) Council of States

(c) Union List, State List and Concurrent List(d) Languages
Which one among the following is a non-constitutional body ?

(a) Central Vigilance Commission (b) Goods and Services Tax Council
(c) State Public Service Commission (d) Advocate General of the State
The 86™ Constitutional Amendment is related to :

(a) Right to Education (b) Right to Information

(c¢) Right to Food (d) Right to Development

What is quorum of either House of the Parliament ?
(a) One-tenth of the present members of the House
(b) One-tenth of the majority party

(c) One-fifth of the members of the House

(d) One-tenth of the total members of the House

What is the name of the Chief Justice of India, who took the charge of the President of India
first time ?

(a) Justice M. Hidaytullah (b) Justice M. Varraktullah
(c) Justice S. Ansari (d) Justice R. Rahman
Who among the following was not the Governor of Uttarakhand ?

(a) Smt. Baby Rani Maurya (b) Smt. Margaret Alva

(c¢) Dr. K.K. Paul
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84.

A JAgI4
Terwreh SITEeRTel H WA | “gTeh-foehe” Tam ey g8 7
(a) TIE IR (b) WS Setarett (c) @S fd (d) TE SeTgrsi
frferfiaa o @ 9 = gfitem o =61 Ja1 T S8 & BmEct ofiT # It o ¢
(a) FEFGIHETA  (b) WA hell HG (c) HIEHE et =1 (d) T HIE 37eHe Wi
FferRaa @ & i 3ee fee wi @ Trafa T8 o ¢

(a) sEt. gq (b) T 37eft (c) .. T&T (d) I8 FaT
IAUEvE 1 vy Fatfua gt o o ?

(a) Fream< = (b)) TWEEE e () &9 Tea (d) WTaRTE S
TP @t 2022 Haf AN R T 9 7

(a) e (b) TR (c) TETIC (d) @

I AT H 4. (HU-27) THA TR, 2022 | AT femam T |
(a) UTH, oI E (b) TATE, THICATS  (c) IH-IFAA-IG, & (d) T3 feeett, wia
fadasr o e TS e S T i g ? 7

(a) WA, ST9H, ST, STHRERT (b) W, S5IEA, I, THA

(c) WRd, ATIH, T, e forn (d) WRd, 3TTEferan, STHfEnT, ST
Tgafa Giact g wira sht foha g fad Sl & TrfRa 8 7

(a) WA (b) TR (c) @t (d) g
A e <t 7<ff St Tty 2

(a) TgUfd Td T=AT o T=ITeAl | (b) T=IEHT &

() PR, T gN @ amadi gt & (d) wwisti |
e 3§ 4 —ddurhes Rem e a2

(a) heg Fdehal 3TN (b) & Td BT HT TREE

(c) TS ATk [T AR (d) TS 1 AR

86T Ttk e Trafrd &

(a) Toren =1 ARSI (b) FET BT HARBR  (¢) WieH T 3RBR (d) Toepma w1 rferm
THg o fopelt oft e & ford momgfd w8 2

(a) e | IufRAd TS 1 gEal W (b) SEHA T T gHaT W

(c) e o TSN 1 Ur=al W (d) TE % P AEHI! T @Al qIT
Ugt IR YT o TPUf o €9 H B i dTel T&IF ATTENST HIAH RS 2

(a) =Igfd . feerdeas (b) =g TH. ShgeaTs

(c) =Imrgfd TE. @R (d) =Imrgfd 3R, EHH
FraforRaa o @ i STtRgve & TSuT TE 9 ?

(a) vt 9t Tt O (b) sfiweht Al stean

(c) Sf. .. Ul (d) *ft g1 3T
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The first woman elected for Rajya Sabha from Uttarakhand is —

(a) Kalpana Saini (b) Manorama Sharma Dobriyal
(c) Ritu Khanduri (d) Rekha Arya

Which of the following is the largest fresh water lake in India ?

(a) Sambhar (b) Puskar (c) Chilka (d) Wular
‘Banni grassland’ is located in which of the following states ?

(a) Maharashtra (b) Gujarat (¢) Himachal Pradesh (d) None of these
Which one of the following Dams is on the Beas river ?

(a) Tilaiya (b) Pong (c) Bhakra (d) Rihand
Lignite is a type of :

(a) Limestone (b) Coal (c) Iron Ore (d) Copper
Which one of the following Tribes live in the Andaman and Nicobar Islands ?
(a) Apatani (b) Jarawa (c) Munda (d) Santhal
The ship building yard Mazgaon Dock is situated at :

(a) Vishakhapatnam (b) Cochin

(c) Kolkata (d) Mumbai

Which of the following ports of India are the natural harbour ? Select the correct answer
from the code given below the list :

1. Chennai 2. Kochi 3. Thoothukudi (Tuticorin) 4. Mumbai

Code :

(a) land2 (b) 2and3 (c) 3and 4 (d) 2and 4

Which of the following States of India has the largest population of Scheduled Tribes
according to 2011 census ?

(a) Rajasthan (b) Odisha (c) Madhya Pradesh (d) Manipur

When is the ‘Himalaya Diwas’ celebrated in Uttarakhand ?

(a) September 15 (b) September 11 (c) September 13 (d) September 9
‘Chholiya’ is a of Uttarakhand.

(a) river (b) temple (c) folk dance (d) dish

Arrange the following Chief Ministers of Uttarakhand in their chronological order and select
the correct code :

(i) Ramesh Pokhriyal (i1) Bhagat Singh Koshyari
(ii1) Pushkar Singh Dhami (iv) N.D. Tiwari
Code :

(a) (iv) (D) (i) (1) (b) (iiD) (i) (@) (iv) ~ (¢) (iv) (i) (i) () (d) (iD) (iv) (1) (iiD)
Who among the following is the winner of ‘Himalay Prahari’ Award 2023 ?

(a) Dhoom Singh Negi (b) Arvind Arora

(c) Tara Gandhi (d) Vijay Jardhari

Who is the singer of ‘Uttarakhand Dev Bhumi-Matrubhumi’ — The Official State Song of
Uttarakhand ?

(a) Narendra Singh Negi (b) Malini Awasthi
(c) Karan Navani (d) Shivam Sadana
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96.

ITEvE § =g 9971 § faffad vem afgen @

(a) ShedHT BT (b) T 3 St

(c) g Tl (d) @ 3

freffea i gy d M T i aeB s sia s H B 7

(a) HR (b) T ORE (d) IR

=t TEve’ efefga § & fpa o 4 srafRa @ 7

(a) HEWY (b) TSR (c) Temmeret wem (d) T @ 15 TE
Frafafaa agi 0 8 i T I AS WR 7

(a) foctan (b) T (c) &Sl @ fe<
formge ©h TR B

(a) TAT-IRR BT (b) P HI (c) g 3TIEH h (d) qre
FrforRaa SHenfaai 8 @ %t 3veA™ e fear fu W Ed @ 7

(a) 3TATSA (b) & (c) HUST (d) GYTA
EREACE I DICR I RAE AT

(a) Tovm@memd  (b) HIA T (c) ShicTehTal | (d) g=g °

WA o Ffetfigd ol | | iH TTepfdes s=euTe & 7 gl o i<l feT 7 e & @8l SR ! AT ;
1. == 2. il 3. qaHe (IRwifA) 4. g

o

(a) 132 (b) 23R 3 (c) 334 (d) 23R4

R o T=fcTRaa U=l | & Tohed 2011 3l SIUAT o STTER, STTHET ST sl STHEE
LEIRER

(a) TSI (b) Afsam (c) TETISI (d) =T

ITEE | Tearerd oo e TR ST 8 ?

(a) 15 foast (b) 11 forasx (c) 13 foast (d) 9 faasr
BT IATEE 1/l 2

(a) T (b) Hfe (c) THIA (d) TeheH

IAEE o JEIHTAAT I 3oh HIAHHTIHR AT i T el e hl T4 . -

(i) WY TREiET (i) AT T

(iii) ToRUYE Gt (iv) T2, faard

T:Iﬁ?,"

(@) (iv) (i) (iii) () (b) (i) (i) () Gv) () (v) (D) (D) (@) (d) (i) (v) (i) (iii)

. =g e feuem vgl’ g9mme-2023 & fosar g ?

(a) goTEE (b) 3ITfde AT (c) am et (d) o s

. TGS TR TSI TGS Gav[H HIGHH’ o Teh hH & ?

(a) g fagft  (b) wiferd st (c) & TGt (d) Trem ggmT
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Twitter has been rebranded as :
(@) Z (b) T () X d w

Noble prize winner for literature in 2023 belongs to which of the following countries ?
(a) Germany (b) Finland (c) Norway (d) France

Opening match of Cricket World Cup-2023 was played between the teams of which of the
following two countries ?

(a) Australia — England (b) Australia — New Zealand

(c¢) England — New Zealand (d) England — South Africa

A person of Indian origin has been elected as the Prime Minister of Singapore in 2023. What
among the following is his name ?

(a) Sharatbhai Patel (b) Kartikey Reddi

(c) Tharman Shanmugaratnam (d) Om Chandi

Which year has been declared as ‘International Year of Millets’ by the United Nations
General Assembly (U.N.G.A) ?
(a) 2020 (b) 2021 (c) 2022 (d) 2023

What name has ISRO given to the Rover sent along with ‘Chandrayaan-3’ Mission ?
(a) Pragyan (b) Shiv-Shakti (c¢) Vikram (d) Mission Mangal

Which of the following countries will be the Chairman of G-20 Summit after India ?
(a) China (b) Brazil (c) Japan (d) None of these

Which Chand king had refused to give refuge to Suleman Shikoh, the fugitive son of Dara
Shikoh ?

(a) Jagat Chand (b) Baj Bahadur Chand

(c) Roopchand (d) Kalyan Chand

Which one of the following place was not a capital of Parmar rulers of Garhwal ?
(a) Chandpur Garhi (b) Dehradun (c) Devalgarh (d) Srinagar

Which one of the following was a land tax during the Gorkha Rule ?
(a) Timari (b) Salami (¢) Sonya Phagun (d) Pungadi

Who among the following was not associated with the establishment of ‘Home rule league’
in Kumaun ?
(a) Mohan Joshi (b) Sridhar Azad (c) Chiranji Lal (d) Badridatt Pandey

Who among the following was not arrested in 1931 while boycotting the British clothes ?
(a) Kunti Verma (b) Mangla Devi (c) Bhagirathi Devi (d) Homvati Devi

Who had started ‘Individual Satyagraha’ in 1940 in Kumaun ?
(a) Hargovind Pant (b) Badridatt Pandey
(c¢) Govind Ballabh Pant (d) Durgadatt Joshi

Who among the following had been imprisoned along with Gandhiji during ‘Salt Satyagrah’ ?
(a) Badridatt Pandey (b) Govind Ballabh Pant
(c) Bhairav Datt (d) Jyotiram Kandpal
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e = frasad @ g P mn 2 2

(a) 38 (b) & (c) TH (d) Y
TTfee & 2023 % Aeel [hR focrar f= 3 @ fopa g @ gaifea § 2

(a) ST (b) fhTeis (c) (d) W
forche favaeru-2023 o1 3gared f= f § @ for €1 < &1 i & e Wert T 7
(a) refeman —rte (b) AFferr — =siicts

(c) 3weie —=siicie (d) Frele —gfe ki

TR & 2023 o WRAT 7 o TG FH T &, 31 A HHfaiad # 1 g ?
(a) IMAASTRA  (b) HIfciehd Igal (c) Y YAPREH  (d) 3T e

TR T WA (4,501, ) g fere o ot “siecigia firere o eifir fepen T 2 7

(a) 2020 (b) 2021 (c) 2022 (d) 2023
O g A - 3 i % |1 § 77 e ) 9 AW e T g 7

(a) I (b) Fa-wfeq (c) fasem (d) Toem Te
WA o S1¢ S1-20 |ite o7 31ee7 f o & & o1 ex 8nm 7

(a) = (b) sisfter (c) STIH (d) 378 T RIS T
fopar =g TITereh 1 T f31ehig o WIS 9 GerdT firhlg w1 weor &3 & w1 ot feam o

(a) T i (b) TATEEAG  (0) TG (d) e =g
FraforRaa o @ ueh s A1 T QTS o WHR AT Y TSYTHT T o1 ?

(a) gl (b) <& (c) TTHTG (d) #FR

T e | 1 0 8 b U i e ?

(a) femrd (b) Ferrt (c) HITHIA (d) e

frforfiea § @ &F A § GruEet i < TUET & Esi-ad T8 o ?

(a) W& St (b) #eR IT=G CRESIEIN (d) wgied TS
frfariaa o & fopd 37T U<t < afgshR o fordl 1931 # FrRwar 7€t fepem mam o 7
(a) eeft ot (b) TTer gt (c) wmfieeft e (d) et T
FATS H 1940 H SAfGETd GG’ 1 A0 fohdeh GRT TehaT 72T o7 7

(a) BENfIRHA  (b) Sfied A (c) Mg e da  (d) gried A

. Trafafea 9 9 F THs-gcamg’ o SRE ST & G Sd ™ Y ?

(a) S UUE  (b) Mfsesea™dd  (c) aed (d) snfer e
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Who was the Chairman of the ‘Forest Grievance Committee’ set up in 1921 ?

(a) Campbell (b) Wyandham (c) Finlay (d) Ibbotson
At which place of Uttarakhand first Arya Samaj Temple of India had been constructed ?
(a) Almora (b) Nainital (c) Kausani (d) Ranikhet
Which one of the following sport persons does not belong to Uttarakhand ?

(a) Lakshya Sen (b) Unmukta Chand

(c) Ekta Bisht (d) Madhumita Goswami

‘Bharara’ is related with :

(a) ‘Bhotiya’ Tribe (b) ‘Raji’ Tribe

(c) ‘Bhil’ Tribe (d) ‘Tharu’ Tribe

Which one of the following is not a ‘folk dance’ of Uttarakhand ?

(a) Thadiya (b) Mitai (¢) Jhumelo (d) Chaufula
Which one of the following is not included in ‘Panch Kedar’ ?

(a) Tunganath (b) Rudranath (c) Kalpeshwar (d) Jageshwar
Who among the following was not a famous Painter of Uttarakhand ?

(a) Shyamdas Tomar (b) Maularam

(c) Manohar (d) Kehardas

Which one of the following weapons is invariably found in the temples of the Nathpanthi
order in Uttarakhand ?

(a) Sword (b) Dagger (c) Spear (d) Trident
In which ‘Jaunsari-folk dance’ Ramtulla musical instrument is essentially played ?
(a) Budiyal (b) Harul (¢) Tandi (d) Pandvart
Bageshwar town is situated on the confluence of which rivers ?
(a) Pindar and Alaknanda (b) Kosi and Ramganga
(c) Kali and Gauri (d) Saryu and Gomti
Sona Pani glacier is located in which of the following districts of Uttarakhand ?
(a) Pithoragarh (b) Chamoli (c) Uttarkashi (d) Bageshwar
Which one of the following pairs is not correctly matched ?
(Project) (River)

(a) Khodri — Yamuna

(b) Dhalipur — Ganga

(c) Maneri-Bhali - Bhagirathi

(d) Kalagarh — Ramganga

According to 2011 census, which of the following districts has highest sex ratio ?
(a) Almora (b) Dehradun (c) Pauri (d) Pithoragarh
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1921 # 7ifd “hREe Wa=g HH’ & AT B I 7
(a) SIS (b) faem (c) T (d) F&eEA
ITEUE o Tord TAT I ARG 1 TUH 3T THTS Hi-et S=R= 7= o ?
(a) ITHIST (b) e (c) A (d) THEd
freferiaa Reerfedi 4 @ = sat@Eve & feEi 12 g 7
(a) o1&I T (b) I 9¢ (c) Tehal faw (d) Tegfiran et
(a) “Hifeam SHemfa & (b) TS S &
(c) “Mfirer SeTTfa & (d) “UT® AT &
frafafea & 9 #1591 v sTrEve %1 Ah-Je T ? 7
(a) A OREL (c) gHell (d) et
Frafafga 0 @ &9 o1 U U= sher’ W Aftferd TE @ 7
(a) GFY ORESE (c) e (d) SRR
Trafefigd § 9 %H T STRgve &1 Uihg fasepr 98 ot 7
(a) WHSE AW (b) HIARH (c) HATE (d) ee™
fr=fafga 0 9 = 91 T 318 IAUEe & Trgeft caere § e ® 1 8 qRT S e ?
(a) AR (b) T (c) et (d) et
THGeA!” AT ATe fohe SIFEM -’ H HAHaT €9 8 S-S g 7
(a) Ffeara (b) BTHA (c) drct (d) YvsaTd
TATZeR STe fobet Afedi & g  fera @ 7
(a) TUuet 3R 3Tt (b) HIET T T
(c) whreft IR T (d) &g 3R T
G g TR Iatree & freferfeda sl 8 9 fred fRa ? ¢
(a) TueRrTe (b) <Al (c) I (d) STITaR
frefafad gt & @ =6 v ) gafaa & 8 ¢

(afEstT) (=)
(a) Wreh -
(b) @R — T
(c) Tl-wreft - wmfieft
(d) TG —  q9m

. 2011 1 STUET % SER, FfaRaa suel # @ forem gatfes femuma g 2

(a) 3FeHIST (b) <& (c) Wl (d) foenrre
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Which one of the following districts of Uttarakhand has the maximum forest area ?

(a) Uttarkashi (b) Dehradun (c) Haridwar (d) Nainital
‘Uttarakhand Skill Development Mission” was established in :

(a) October, 2013 (b) February, 2013  (c) April, 2013 (d) December, 2013
When ‘Atal Aayushman Uttarakhand Yojana’ was started ?

(a) 25" September, 2018 (b) 1% November, 2018

(c) 25" December, 2018 (d) 25™ October, 2018

In which of the following districts the ‘National Institute of Technology of Uttarakhand’ is
situated ?

(a) Rudra Prayag (b) Nainital (c) Pauri Garhwal (d) Dehradun

A is three times as old as B. C was twice as old as A four years ago. In four years time, A
will be 31. What are the present ages of B and C ?

(a) 10,50 (b) 10,46 (c) 9,50 (d) 9,46

The greatest number among the numbers 1, 4\/5, 5\/:1, 1()\/6 is

(@) 106 (b) 54 (©) 43 (d) 1

If a clock takes seven seconds to strike seven, how long will it take to strike ten ?
1 1
(a) 9 seconds (b) 10 seconds (©) 95 seconds (d) 105 seconds

Three positions of a die are given. Based on them, find out which number is found opposite
the number 2 in the given cube.

(a) 6 (b) 5 () 3 @) 1

Identify the number in the position of = :
3 6 2

51 12 |14 5] 18 |2 5 * |2

2 3 9
(a) 16 (b) 18 (c) 20 (d) 24

Two numbers are in the ratio 2 : 3. If 5 is added to each number, then ratio becomes 5 : 7.
Numbers are —
(a) 10,15 (b) 30,45 (c) 20,30 (d) 40, 60
P, Q and R are educated; P, R and S are hard working; R, S and T are employed; P, Q, S and
T are polite. Who is educated, hard working, polite but not employed ?
(a) P (b) R () Q (d T
Which of the following interchange of signs would make the given equation correct ?
24 +14+7-6=20
(a) —and + (b) ~and= (c) +and— (d) +and +
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IrEve & feferfiga suel § 4 ford weh o o She Haiftes ® 7

(a) ST (b) <TG (c) BER (d) Hiare

ITGUE I Torehrd e’ ot e g2t oft

(a) TR, 2013 T (b) G, 20137 (c) 30, 2013 H (d) fegmar, 2013 °
‘3TEA YA TGV AT T JHFT e gT ?

(a) 25 THawR, 2018(b) 01 FaWR, 2018 (c) 25 fg@mR, 2018 (d) 25 3T, 2018
T enfireh e, Satere’ frefafga sl § @ et fRa g 7

(a) BgsETT (b) Hfraret ORISREEIS (d) SEwed

A BATHTNESI 8 | IR AT 9gt C, A Y S AT ST AT | IR ETA H A 31 9 1 &1 AT |
B T C &l adq 311 a2 7

(a) 10,50 (b) 10, 46 (c) 9,50 (d) 9,46
frforfga g@matt 1, 43, 514, 10n/6 & aod st v &
(@) 10\6 (b) 54 (©) 43 (d) 1
Ife Tk T Hid S | T1d Fhvs Al 8, o 98 e s § fehaqm gwy «ft ¢
(a) 9 UHTS (b) 10 THUE (c) 91 Heve (d) 101 Fepvg
Teh U Sh1 i TRt & el 8 | 3k 3mem wy, 3ra <hifste fop few e e A 2 % faadia i
e qrfl St R
(a) 6 (b) 5 3 (d) 1
3% o T I HEAT ! IEHTHT :
3 6 2
s| 12 |4 5| 18 |2 5| % |2
2 3 9
(a) 16 (b) 18 (c) 20 (d) 24
QAT 2 : 3% I 1§ | Ife ek T H 5 Siie fean S At U 5 ;7 A g | et §
(a) 10,15 (b) 30,45 (c) 20,30 (d) 40, 60
P, Q 3R ffera &; P, R 3N S ATl &; R, S N T HRW &; P, Q, S MM T formm & | M
farfera, A, fomw 8, wg ria & ?
(a) P (b) R ©) Q (d T

& Frgrl 1 e seen A fFfafaa aeieor o am ¢
24+ 14+7-6=20

(a) — 3+ (b) + 3= (c) + 3 - (d) +3MW +
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138. ‘Decibel’ is the unit of :
(a) Intensity of light (b) Intensity of radio-wave
(c) Intensity of sound (d) Intensity of heat

139. Toxic metal associated with ‘Minimata Episode’ is :

(a) Lead (b) Arsenic (c) Mercury (d) Cadmium
140. Water is the good solvent for ionic salts because of :

(a) High specific heat (b) High refractive index

(c) High boiling point (d) High dielectric constant

141. Name of the gas which excretes out from the ‘Paddy fields’, causing rise in earth’s
temperature is :

(a) Nitrogen (b) Methane (c) Carbon monoxide (d) Carbon dioxide
142. Fatis digested by :

(a) Proteinase (b) Amylase (c) Lipase (d) Saliva
143. Which protocol is used for email message between different machines ?

(a) FTP (b) RPC (c) SNTP (d) SMTP
144. Which sequence is activated when we switch-on the computer system ?

(a) ROM (b) Boot (c) RAM (d) All of these
145. Directories in operating system are used for :

(a) keeping tracks of Program (b) keeping tracks of Process

(c) keeping tracks of Hardware (d) keeping tracks of Files
146. Who was the last ruler of Mauryan dynasty ?

(a) Ashok (b) Kunal (c) Vrihadrath (d) None of these
147. Who constructed the mausoleum of ‘Itmad-ud-daula’ in her father’s memory ?

(a) Razia (b) Zahanara (c) Noorjahan (d) Gulbadan Begum
148. Which of the following pairs is correctly matched ?

(a) Mudrarakshas — Kalidasa (b) Swapnavasavdatta — Shudrak

(c) Mrichchkatikam — Bhasa (d) Laghujatak — Varahmihir
149. During the attack on Ranthambhor fort, which General of Alauddin Khilji had been killed ?

(a) Nusrat Khan (b) Ulugh Khan (¢) Rummi Khan (d) All of these
150. Which one of the following was the first political organization of India ?

(a) Land Holder’s Society (b) British Indian Association

(c) Madras Native Association (d) Bombay Association
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SHIEA AT 8

OREREIIEL D] (b) fe—aa st dierar =1

(c) ot b fisrelt <t (d) ST ) et 1

Tframan s @ gefea fadeft arg 2

(a) HEn (b) AEH (c) U (d) FsiEm

et AT AN o ToTu Ueh 3151 fareTrreh B, lifeh

(a) 3T fafITe Fem o SR (b) 3Tk YU o HR

(c) ATk AT Uige’ o HRUT (d) 7Tk TRTEATS h HI

“GT % WAl ¥ I 8 ATl AT JeEft o arauH § gfg S arelt 19 1 A 7

(a) TEESH (b) e (c) HTEH AFIEEE  (d) HISH SBIATFTS
ST 1 ITeF BT 8

(a) TN HGRT  (b) TIEAT H g () <I5US & gl (d) TR g
HH T MR o TR % o e 9w 3 R T A @ 7

(a) FTP (b) RPC (c) SNTP (d) SMTP

I |1 3ThA Ak BT ], T 89 Y s I Fd 7 7

(a) T (b) (c) W™ (d) Faed
rrRfen foreen 7 fefentatt <1 3T fohan ST R -

(a) TTH ST ¢eh T o T (b) THE HT ¢ T o fotw

(c) BTSAT H1 3o T o foau (d) IS I s T & forw

TV} 3T T 3T T8 hiF o7 ?

(a) 3FEH (b) FuTTeA (c) Tez (d) ST & H1E TE
319 o 1 i H “SeHIG-3G - <1 HehaTll TR SHaT ¢

(a) T (b) STEI3T (c) el (d) TG T
faffga i a a argm gafea 2 ¢

(a) HERIEE — Hifcie™ (b) WEEHEEAT — I

(c) FeBhieHy — W (d) eTESITeh — rgfifet

TOTRI o Tohel TR TShATT o R STATSE Raetsit ol ehi-l |1 SHTfd W 71T o7 ?
(a) Fo%d @ (b) ST (c) ®HI @I (d) = @efi
WL Y Tgel) Tofaes geen e A a s e off 7

(a) e Beed Aemd (b) Torfew Sfee wafaem

(c) WgrE fea wEtgH (d) ST TETRuRH
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